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VICARIVS FILII DEI
THE VICAR OF THE SON OF GOD

 V = 5
 I = 1
 C = 100
 A = 0
 R = 0
 I = 1
 V = 5
 S = 0
   112

 F = 0
 I = 1
 L = 50
 I = 1
 I = 1
   53

 D = 500
 E = 0 
 I = 1
   501 

VICARIUS = 112
FILII = 53
DEI = 501
   666

1



IOANES PAVLUS SECVNDO
JOHN PAUL THE SECOND

 I = 1
 O = 0
 A = 0
 N = 0
 E = 0
 S = 0
   1

 P = 0
 A = 0
 V = 5
 L = 50
 V = 5
 S = 0
   60

S = 0
E = 0
C = 100 
V = 5
N = 0
D = 500
O = 0
   605

   1
   60
   605
   666

2



DVX CLERI
THE DUKE OF THE CLERGY

 D = 500
 V = 5
 X = 10
   515

 C = 100
 L = 50 
 E = 0
 R = 0 
 I = 1
   151    515   

   151
   666

3



   515   
   151
   666

LVDOVICVS
THE VICAR OF THE JUDGMENT SEAT

 L = 50
 V = 5
 D = 500
 O = 0
 V = 5
 I = 1
 C = 100
 V = 5
 S = 0
   666

4



I PROTERA (Greek)
Find Greek numerical values in the Encyglopedia Britannica

under“Languages of the world”

 I = 10
 P = 80
 R = 100
 O = 70
 T = 300
 E = 5
 R = 100
 A = 1
   666

5



LATEINOS
THE LATIN MAN

 L = 30
 A = 1
 T = 300
 E = 5
 I = 10
 N = 50
 O = 70
 S = 200
   666

6



8
399
259
666

HE LATINE BASILEIA
OLD GREEK, MEANS: THE LATIN KINGDOM

 H = 0
 E = 8
   8

7

 L = 30
 A = 1
 T = 300
 I = 10
 N = 50
 E = 8
   399

 B = 2
 A = 1
 S = 200
 I = 10
 L = 30
 E = 5
 I = 10
 A = 1
   259



APOSTATES
THE APOSTATES

8

 A = 1
 P = 80
 O = 70
 S = 6 T = 
 A = 1 
 T = 300
 E = 8
 S = 200
   666



ROMIITH
THE ROMAN KINGDOM

9

 R = 200
 O = 6
 M = 40
 I = 10
 I = 10
 T  400 H
   666



ROMITI
THE ROMAN MAN (IN HEBREW)

10

 R = 200
 O = 6
 M = 40
 I = 10
 T = 400
 I = 10
   666



TEITAN
SATAN IN GREEK

11

 T = 300
 E = 5
 I = 10
 T = 300
 A = 1
 N = 50
   666



SANCTA LVX DEI
SACRED LIGHT OF GOD

(A name that the Vatican calls itself)

12

 S = 0
 A = 0
 N = 0
 C = 100
 T = 0
 A = 0
   100

100
65

501
666

 L = 50
 V = 5
 X = 10
   65

 D = 500
 E = 0
 I = 1
   501



REX LATINVS SACERDOS
KING OF THE LATIN PRIESTS

13

 R = 0
 E = 0
 X = 10
   10

10
56

600
666

 L = 50
 A = 0
 T = 0
 I = 1
 N = 0
 V = 5
 S = 0
   56

 S = 0
 A = 0
 C = 100
 E = 0
 R = 0
 D = 500
 O = 0
 S = 0
   600


